



## The composition of some approximation operators of exponential type

Ulrich Abel<sup>a,\*</sup>, Vijay Gupta<sup>b</sup>, Vitaliy Kushnirevych<sup>a</sup>

<sup>a</sup>Technische Hochschule Mittelhessen, Fachbereich MND, Wilhelm-Leuschner-Straße 13, 61169 Friedberg, Germany

<sup>b</sup>Department of Mathematics, Netaji Subhas University of Technology, Sector 3 Dwarka, New Delhi 110078, India

**Abstract.** Recently, Gupta, López-Pellicer, and Srivastava [5] studied the convergence of approximation operators of exponential type connected to the function  $x^{3/2}$ . In the present article, we consider a new operator obtained by the composition of two exponential type integral operators connected to  $x^2$  and  $x^3$ . The new operator is based on the modified Bessel function of the second kind. We obtain the moments, present an estimate for the rate of convergence and establish the complete asymptotic expansion of the new operator.

**Dedicated to the 80th anniversary of the birthday of Professor Manuel López-Pellicer**

### 1. Introduction and main results

In the present article, we consider two exponential-type integral operators and study the operator obtained by their composition. The exponential-type integral operators given by

$$(L_n f)(x) = \int_0^\infty \phi_n(x, t) f(t) dt$$

are such that their kernels  $\phi_n(x, t)$  satisfy the differential equation  $\frac{\partial}{\partial x} \phi_n(x, t) = \frac{n(t-x)}{p(x)} \phi_n(x, t)$ .

Very recently, V. Gupta, M. López-Pellicer, and H. M. Srivastava [5] studied the convergence of approximation operators of exponential type connected to the function  $p(x) = x^{3/2}$ . Here we deal with the two well-known exponential-type operators, namely Post–Widder operators  $P_n$  and the Ismail–May operators  $Q_n$ , the values of  $p(x)$  are  $x^2$  and  $x^3$ , respectively. The Post–Widder operator [7, (3.9)] is defined by

$$(P_n f)(t) = \frac{n^n}{t^n} \frac{1}{\Gamma(n)} \int_0^\infty e^{-nu/t} u^{n-1} f(u) du.$$

The exponential type operator  $Q_n$  introduced by Ismail and May [7, Eq. (3.11)] is given by




$$(Q_n f)(x) = \frac{n^{1/2} e^{n/x}}{\sqrt{2\pi}} \int_0^\infty t^{-3/2} \exp\left(-\frac{n}{2t} - \frac{nt}{2x^2}\right) f(t) dt.$$

2020 *Mathematics Subject Classification.* Primary 41A36, 41A60.

*Keywords.* Exponential-type operators, Bessel function of the second kind, integral operators.

Received: 08 January 2024; Revised: 26 April 2024; Accepted: 07 May 2024

Communicated by Hari M. Srivastava

ORCID iD: 0000-0003-1889-4850  (Ulrich Abel), 0000-0002-5768-5763  (Vijay Gupta), 0000-0002-0497-2697  (Vitaliy Kushnirevych)

\* Corresponding author: Ulrich Abel

*Email addresses:* [Ulrich.Abel@mnd.thm.de](mailto:Ulrich.Abel@mnd.thm.de) (Ulrich Abel), [vijaygupta2001@hotmail.com](mailto:vijaygupta2001@hotmail.com) (Vijay Gupta), [Vitaliy.Kushnirevych@mnd.thm.de](mailto:Vitaliy.Kushnirevych@mnd.thm.de) (Vitaliy Kushnirevych)

The composition of the operators  $Q_m$  and  $P_n$  provides a new integral operator  $C_{m,n} = Q_m \circ P_n$ . Obviously,  $C_{m,n}$  is a positive linear operator. Since  $P_n$  and  $Q_n$  preserve constant functions, so its composition  $C_{m,n}$  does. We present a concise form of  $C_{m,n}$  as an integral operator by expressing the kernel in terms of certain special functions.

**Theorem 1.1.** *The operator  $C_{m,n}$  can be written in the form*

$$(C_{m,n}f)(x) = \int_0^\infty \phi_{m,n}(x, u) f(u) du,$$

with the kernel function

$$\phi_{m,n}(x, u) = \frac{n^n m^{1/2} e^{m/x}}{\Gamma(n) x^{n+1/2}} \sqrt{\frac{2}{\pi}} \left(1 + 2\frac{n}{m}u\right)^{-n/2-1/4} K_{n+1/2}\left(\frac{m}{x} \sqrt{1 + 2\frac{n}{m}u}\right) u^{n-1},$$

where  $K_\nu$  denotes the modified Bessel function of the second kind.

*Proof.* We have

$$(C_{m,n}f)(x) = \frac{n^n m^{1/2} e^{m/x}}{\Gamma(n) \sqrt{2\pi}} \int_0^\infty \left( \int_0^\infty t^{-n-\frac{3}{2}} \exp\left(-\frac{m}{2t} - \frac{nu}{t} - \frac{mt}{2x^2}\right) dt \right) u^{n-1} f(u) du.$$

Applying the integral representation

$$K_\nu(az) = \frac{z^\nu}{2} \int_0^\infty t^{-\nu-1} \exp\left(-\frac{a}{2}\left(t + \frac{z^2}{t}\right)\right) dt,$$

of the modified Bessel function of the second kind [8, page 39] (cf. [4, entry 8.432, formula 7, p. 917]), with  $a = mx^{-2}$  and  $z = x \sqrt{1 + 2\frac{n}{m}u}$ , we get

$$(C_{m,n}f)(x) = \frac{n^n m^{1/2} e^{m/x}}{\Gamma(n) x^{n+1/2}} \sqrt{\frac{2}{\pi}} \int_0^\infty \left(1 + 2\frac{n}{m}u\right)^{-n/2-1/4} K_{n+1/2}\left(\frac{m}{x} \sqrt{1 + 2\frac{n}{m}u}\right) u^{n-1} f(u) du.$$

This completes the proof of theorem.  $\square$

The asymptotic relation  $K_\nu(z) \sim \sqrt{\pi/(2z)}e^{-z}$  as  $z \rightarrow +\infty$  ([4, entry 8.451, formula 5, p. 962], cf. [10, p. 80, Eq. (12)]), shows that the operator  $C_{m,n}$  is well-defined, for all locally integrable functions on  $[0, +\infty)$  satisfying the growth condition  $f(u) = O(e^{u^\beta})$  as  $u \rightarrow +\infty$ , for some constant  $\beta < 1/2$ . In the special case when  $m = n$ , we get the approximation operator

$$(C_{n,n}f)(x) = \int_0^\infty \phi_{n,n}(x, u) f(u) du \tag{1}$$

with the kernel function

$$\phi_{n,n}(x, u) = \sqrt{\frac{2}{\pi}} \frac{e^{n/x}}{\Gamma(n)} \left(\frac{n}{x}\right)^{n+1/2} (1 + 2u)^{-n/2-1/4} K_{n+1/2}\left(\frac{n}{x} \sqrt{1 + 2u}\right) u^{n-1}.$$

In this paper we study the operator  $C_{n,n}$ .

Firstly, we present an estimate of the rate of convergence in terms of the classical modulus of continuity. Let  $C_b[0, +\infty)$  be the space of all real-valued, continuous and bounded functions defined on the interval  $[0, +\infty)$ .

**Theorem 1.2.** *Let  $x > 0$ . For  $f \in C_b[0, +\infty)$ , the rate of convergence can be estimated by*

$$|(C_{n,n}f)(x) - f(x)| \leq (1 + x \sqrt{1 + 2x}) \omega\left(f, \frac{1}{\sqrt{n}}\right). \tag{2}$$

Throughout the paper, let  $e_r$  denote the monomials, given by  $e_r(x) = x^r$  ( $r = 0, 1, 2, \dots$ ). Furthermore, define  $\psi_x = e_1 - xe_0$ , for  $x \in \mathbb{R}$ . The proof of Theorem 1.2 is based on a classical estimate using the second central moment (see [2, Theorem 5.1.2]).

**Lemma 1.3.** *Let  $I$  be a real interval and  $E$  be a sublattice of  $C(I)$  containing  $C_b(I)$  as well as the functions  $e_1$  and  $e_2$ . If  $L : E \rightarrow C[0, +\infty)$ , then, for  $f \in C_b[0, +\infty)$ ,*

$$|(Lf)(x) - f(x)| \leq |(Le_0)(x) - 1| |f(x)| + \left( (Le_0)(x) + \frac{1}{\delta} \sqrt{(L\psi_x^2)(x)} \sqrt{(Le_0)(x)} \right) \omega(f, \delta).$$

*Proof of Theorem 1.2.* By Lemma 1.3,  $C_{n,n}e_0 = e_0$  and the estimate (8), for  $f \in C_b[0, +\infty)$  and  $\delta > 0$ ,

$$|(C_{n,n}f)(x) - f(x)| \leq \left( 1 + \frac{1}{\delta} \sqrt{(C_{n,n}\psi_x^2)(x)} \right) \omega(f, \delta) \leq \left( 1 + \frac{x}{\delta} \sqrt{\frac{1+2x}{n}} \right) \omega(f, \delta).$$

Choosing  $\delta = 1/\sqrt{n}$  we obtain (2).  $\square$

Now we deal with the asymptotic properties of the operators  $C_{n,n}$ . For  $q \in \mathbb{N}$  and  $x \in (0, \infty)$ , let  $K[q; x]$  be the class of all locally integrable functions  $f$  of polynomial growth  $f(t) = O(t^q)$  as  $t \rightarrow +\infty$  which are  $q$  times differentiable at  $x$ . The following theorem presents as our main result the complete asymptotic expansion for the operators  $C_{n,n}$ . The corresponding result for the operator  $Q_n$  can be found in [1].

**Theorem 1.4.** *Let  $q \in \mathbb{N}$  and  $x \in (0, \infty)$ . For each function  $f \in K[2q; x]$ , the operators  $C_{n,n}$  possess the asymptotic expansion*

$$(C_{n,n}f)(x) = f(x) + \sum_{k=1}^q \frac{c_k(f, x)}{n^k} + o(n^{-q}) \quad (n \rightarrow \infty),$$

with the coefficients  $c_k(f, x) = \sum_{s=2}^{2k} \frac{f^{(s)}(x)}{s!} \sum_{j=0}^k \frac{x^{s+j}}{2^j j!} T(s, j, k-j)$ , where

$$T(s, j, \ell) = \sum_{r=1}^s (-1)^{s-r} \binom{s}{r} \begin{bmatrix} r \\ r-\ell \end{bmatrix} (r-1+j)^{2j}. \tag{3}$$

Here and in the following  $\begin{bmatrix} r \\ \ell \end{bmatrix}$  denote the (signless) Stirling numbers of the first kind. We follow the convention that  $\begin{bmatrix} r \\ \ell \end{bmatrix} = 0$  if  $\ell < 0$  or if  $\ell > r$ . A definition and several properties of the Stirling numbers can be found in Section 3. For the convenience of the reader we explicitly present the initial part of the expansion:

$$(C_{n,n}f)(x) = f(x) + \frac{x^2(1+x)}{2n} f^{(2)}(x) + \frac{12x^3 f^{(2)}(x) + 4x^3(3x^2 + 6x + 2) f^{(3)}(x) + 3x^4(1+x)^2 f^{(4)}(x)}{24n^2} + O(n^{-3}) \quad (n \rightarrow \infty).$$

In the special case  $q = 1$ , we obtain the following Voronovskaja-type result.

**Corollary 1.5.** *Let  $x \in (0, \infty)$ . For each function  $f \in K[2; x]$ , the operators  $C_{n,n}$  satisfy the asymptotic relation*

$$\lim_{n \rightarrow \infty} n [(C_{n,n}f)(x) - f(x)] = \frac{x^2(1+x)}{2} f''(x).$$

This limit is not unexpected. It is well known that exponential operators  $L_n$  have Voronovskaja-type limit  $\lim_{n \rightarrow \infty} n [(L_n f)(x) - f(x)] = p(x) f''(x)/2$ . Noting that  $C_{n,n} = Q_n \circ P_n$  it holds

$$\lim_{n \rightarrow \infty} n [(C_{n,n}f)(x) - f(x)] = \lim_{n \rightarrow \infty} n [(P_n f)(x) - f(x)] + \lim_{n \rightarrow \infty} n [(Q_n f)(x) - f(x)] = \frac{x^2}{2} f''(x) + \frac{x^3}{2} f''(x).$$

### 2. The moments

Firstly, we study the moments of the operators  $C_{n,n}$ . Throughout the paper, let  $e_r$  denote the monomials, given by  $e_r(x) = x^r$  ( $r = 0, 1, 2, \dots$ ). Furthermore, define  $\psi_x = e_1 - xe_0$ , for  $x \in \mathbb{R}$ . The following integral formula is essential for the evaluation of the moments of the operator  $C_{n,n}$ .

**Lemma 2.1.** For real  $a > 0$  and complex  $\nu$  with  $\text{Re}(\nu) > -1$ , it holds

$$\int_0^\infty K_\nu(a\sqrt{2u+1})(2u+1)^{-\nu/2} u^\mu du = \frac{\Gamma(\mu+1)}{a^{\mu+1}} K_{\nu-\mu-1}(a).$$

*Proof.* For real  $a, z > 0$  and complex  $\nu$  with  $\text{Re}(\nu) > -1$ , Sonine’s formula [10, p. 147, Eq. (6)] states that

$$\int_0^\infty K_\nu(a\sqrt{t^2+z^2})(t^2+z^2)^{-\nu/2} t^{2\mu+1} dt = \frac{2^\mu \Gamma(\mu+1)}{z^{\nu-\mu-1} a^{\mu+1}} K_{\nu-\mu-1}(az).$$

The change of variable  $t^2 = 2u$  and choosing  $z = 1$  leads to the desired formula.  $\square$

A direct consequence is the following representation of the moments of the operators  $C_{n,n}$ .

**Lemma 2.2.** The moments of the operators  $C_{n,n}$  are given by

$$(C_{n,n}e_r)(x) = \sqrt{\frac{2}{\pi}} \frac{\Gamma(n+r)}{\Gamma(n)} \left(\frac{x}{n}\right)^{r-1/2} e^{n/x} K_{1/2-r}\left(\frac{n}{x}\right) \quad (x > 0, r = 0, 1, 2, \dots).$$

*Proof.* By definition, we have

$$(C_{n,n}e_r)(x) = \sqrt{\frac{2}{\pi}} \frac{e^{n/x}}{\Gamma(n)} \left(\frac{n}{x}\right)^{n+1/2} \int_0^\infty (1+2u)^{-n/2-1/4} K_{n+1/2}\left(\frac{n}{x}\sqrt{1+2u}\right) u^{n-1+r} du,$$

such that the desired representation follows from Lemma 2.1.  $\square$

For  $\nu = n + 1/2$  ( $n = 0, 1, 2, \dots$ ), the modified Bessel function of the second kind has the explicit representation ([10, p. 80, Eq. (12)] or [4, entry 8.468, p. 967])

$$K_{n+1/2}(z) = \sqrt{\frac{\pi}{2z}} e^{-z} \sum_{k=0}^n \frac{(n+k)!}{k!(n-k)!} (2z)^{-k} \quad (z > 0),$$

in particular,  $K_{1/2}(z) = \sqrt{\pi/(2z)} e^{-z}$ . Using the symmetry  $K_{-\nu}(z) = K_\nu(z)$ , we obtain  $C_{n,n}e_0 = e_0$  and

$$(C_{n,n}e_{r+1})(x) = \frac{\Gamma(n+r+1)}{\Gamma(n)} \sum_{k=0}^r \frac{(2r-k)!}{2^{r-k} k! (r-k)!} \left(\frac{x}{n}\right)^{2r+1-k}. \tag{4}$$

Hence, for  $r \geq 1$ , the moment  $C_{n,n}e_r$  is a polynomial of degree  $2r - 1$ , being a multiple of  $e_r$ .

### 3. The asymptotic expansion

We make use of the Stirling numbers and certain of their properties. Recall that, the quantities  $\begin{bmatrix} m \\ j \end{bmatrix}$  denote the (signless) Stirling numbers of the first kind defined by  $z^m = \sum_{j=0}^m (-1)^{m-j} \begin{bmatrix} m \\ j \end{bmatrix} z^j$ , ( $m = 0, 1, 2, \dots$ ), where  $z^0 = 1$ ,  $z^m = z(z-1)\cdots(z-m+1)$ ,  $m \in \mathbb{N}$ , are the falling factorials. Using  $(-z)^m = (-1)^m(z+m-1)^m$  we obtain the relations

$$(z+m-1)^m = \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix} z^j \quad (m = 0, 1, 2, \dots). \tag{5}$$

We recall some known facts about Stirling numbers which will be useful in the sequel. The Stirling numbers of the first kind possess the representation

$$\left[ \begin{matrix} r \\ r - \ell \end{matrix} \right] = (-1)^\ell \sum_{j=\ell}^{2\ell} s_2(j, j - \ell) \binom{r}{j}, \tag{6}$$

for  $0 \leq \ell \leq r$ , (see [3, page 226–227, Ex. 16]). The coefficients  $s_2(j, j - \ell)$ , called associated Stirling numbers of the first kind, are independent of  $r$ .

**Lemma 3.1.** *The moments of the operators  $C_{n,n}$  are given by  $C_{n,n}e_0 = e_0$  and, for  $r \geq 1$ , by*

$$(C_{n,n}e_r)(x) = \sum_{k=0}^{2r-1} \frac{1}{n^k} \sum_{j+\ell=k} \left[ \begin{matrix} r \\ r - \ell \end{matrix} \right] \frac{(r - 1 + j)^{2j}}{2^j j!} x^{r+j}$$

*Proof.* We have  $\Gamma(n + r) / \Gamma(n) = (n + r - 1)^r = \sum_{\ell=0}^r \left[ \begin{matrix} r \\ r - \ell \end{matrix} \right] n^{r-\ell}$ . By Eq. (4), we obtain, for  $r \geq 1$ ,

$$(C_{n,n}e_r)(x) = \sum_{\ell=0}^r \left[ \begin{matrix} r \\ r - \ell \end{matrix} \right] n^{r-\ell} \sum_{j=0}^{r-1} \frac{(r - 1 + j)!}{2^j j! (r - 1 - j)!} \left(\frac{x}{n}\right)^{r+j} = \sum_{k=0}^{2r-1} \frac{1}{n^k} \sum_{j+\ell=k} \left[ \begin{matrix} r \\ r - \ell \end{matrix} \right] \frac{(r - 1 + j)^{2j}}{2^j j!} x^{r+j}$$

with the convention that  $\left[ \begin{matrix} r \\ r - \ell \end{matrix} \right] = 0$  if  $\ell > r$ .  $\square$

**Lemma 3.2.** *The central moments of the operators  $C_{n,n}$  are given by  $C_{n,n}\psi_x^0 = e_0$  and, for  $s \geq 1$ , by*

$$(C_{n,n}\psi_x^s)(x) = \sum_{k=1}^{2s-1} \frac{1}{n^k} \sum_{j+\ell=k} \frac{x^{s+j}}{2^j j!} T(s, j, \ell),$$

where  $T(s, j, \ell)$  is as defined in (3). For each  $x > 0$  and  $s = 0, 1, 2, \dots$ , the central moments satisfy the relation

$$(C_{n,n}\psi_x^s)(x) = O\left(n^{-\lfloor (s+1)/2 \rfloor}\right) \quad (n \rightarrow \infty). \tag{7}$$

*Proof.* Plainly,  $C_{n,n}\psi_x^0 = C_{n,n}e_0 = e_0$ . Let  $s \geq 1$ . Since  $(C_{n,n}e_r)(x) = x^r + O(n^{-1})$  as  $n \rightarrow \infty$  we have

$$(C_{n,n}\psi_x^s)(x) = \sum_{r=0}^s \binom{s}{r} (-x)^{s-r} (C_{n,n}e_r)(x) = \sum_{k=1}^{2s-1} \frac{1}{n^k} \sum_{j+\ell=k} \frac{x^{s+j}}{2^j j!} T(s, j, \ell)$$

with  $T(s, j, \ell)$  as defined in Eq. (3). To prove the second part (3), we show that  $T(s, j, \ell) = 0$  if  $1 \leq j + \ell < s/2$ . Using the representation (6) and taking advantage of the binomial identity  $\binom{s}{r} \binom{\ell}{r-j} = \binom{s-j}{r-j} \binom{s}{r}$  we obtain

$$T(s, j, \ell) = (-1)^\ell \sum_{i=\ell}^{2\ell} s_2(i, i - \ell) \binom{s}{i} \sum_{r=i}^s (-1)^{s-r} \binom{s-i}{r-i} (r - 1 + j)^{2j}.$$

The inner sum is equal to

$$\sum_{r=0}^{s-i} (-1)^{s-i-r} \binom{s-i}{r} (r + i - 1 + j)^{2j} = 0$$

if  $2j < s - i$ . This is the case, for  $\ell \leq i \leq 2\ell$ , if  $2j < s - 2\ell$ , i.e.,  $j + \ell < s/2$ .  $\square$

For the convenience of the reader we list some instances:

$$\begin{aligned} (C_{n,n}\psi_x^0)(x) &= 1, & (C_{n,n}\psi_x^1)(x) &= 0, & (C_{n,n}\psi_x^2)(x) &= \frac{x^2(1+x)}{n} + \frac{x^3}{n^2}, \\ (C_{n,n}\psi_x^3)(x) &= \frac{x^3(3x^2+6x+2)}{n^2} + \frac{3x^4(3x+2)}{n^3} + \frac{6x^5}{n^4}, \\ (C_{n,n}\psi_x^4)(x) &= \frac{3x^4(1+x)^2}{n^2} + \frac{3x^4(5x^3+18x^2+14x+2)}{n^3} + \frac{3x^5(30x^2+47x+12)}{n^4} + \frac{15x^6(11x+6)}{n^5} + \frac{90x^7}{n^6}. \end{aligned}$$

A direct consequence is the following estimate of the second central moment:

$$\left| (C_{n,n}\psi_x^2)(x) \right| \leq \frac{x^2 + 2x^3}{n}. \tag{8}$$

*Proof of Theorem 1.4.* In order to derive Theorem 1.4, a general approximation theorem due to Sikkema will be applied. Let  $q \in \mathbb{N}$  and  $x \in (0, \infty)$ . By Sikkema’s theorem [9, Theorem 3], we have, for each function  $f \in K[2q; x]$ ,

$$(C_{n,n}f)(x) = \sum_{s=0}^{2q} \frac{f^{(s)}(x)}{s!} (C_{n,n}\psi_x^s)(x) + o(n^{-q}) \quad (n \rightarrow \infty).$$

By Lemma 3.1 and observing that  $(C_{n,n}\psi_x^1)(x) = 0$ , it follows that

$$(C_{n,n}f)(x) = f(x) + \sum_{k=1}^q \frac{1}{n^k} \sum_{s=2}^{2q} \frac{f^{(s)}(x)}{s!} \sum_{j+\ell=k} \frac{x^{s+j}}{2^j j!} T(s, j, \ell) + o(n^{-q})$$

as  $n \rightarrow \infty$ . The final form follows by Eq. (7).  $\square$

### Acknowledgement

The authors are grateful to the reviewer for the advice which led to an improved exposition of the paper. Furthermore, the referee pointed out an additional reference.

### References

[1] U. Abel, *Complete asymptotic expansion for an exponential-type operator related to  $p(x) = x^3$* , Anal. Math. **48** (2022), 913–924.  
 [2] F. Altomare, M. Campiti, *Korovkin-type Approximation Theory and its Applications*, Series: De Gruyter Studies in Mathematics, 17, 1994.  
 [3] L. Comtet, *Advanced Combinatorics* Reidel Publishing Comp., Dordrecht, 1974.  
 [4] I. S. Gradshteyn, I. M. Ryzhik, *Table of Integrals, Series and Products*, ed. by A. Jeffrey and D. Zwillinger, 7th Ed., Elsevier, 2007.  
 [5] V. Gupta, M. López-Pellicer, H. M. Srivastava, *Convergence estimates of a family of approximation operators of exponential type*, Filomat **34**, No. 13 (2020), 4329–4341. <https://doi.org/10.2298/FIL2013329G>  
 [6] V. Gupta, N. Malik, Th. M. Rassias, *Moment generating functions and moments of linear positive operators*, Modern Discrete Mathematics and Analysis (Edited by N. J. Daras and Th. M. Rassias), Springer 2017. DOI: [https://doi.org/10.1007/978-3-319-74325-7\\_8](https://doi.org/10.1007/978-3-319-74325-7_8)  
 [7] M. E. H. Ismail, C. P. May, *On a family of approximation operators*, J. Math. Anal. Appl. **63** (1978), 446–462.  
 [8] W. Magnus, F. Oberhettinger, *Formeln und Sätze für die speziellen Funktionen der mathematischen Physik*, 2nd edition, Berlin, Göttingen, Heidelberg: Springer-Verlag, 1948.  
 [9] P. C. Sikkema, *On some linear positive operators*, Indag. Math. **32** (1970), 327–337.  
 [10] G. N. Watson, *A treatise on the theory of Bessel functions*, 2nd ed., London: Cambridge University Press (1966).